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Z 8725：2015 別添 

別添 

開始

UV(1)=0.180 046 VN(1)=0.263 577 RSP(1)=‐4.095 62
UV(2)=0.180 638 VN(1)=0.265 948 RSP(1)=‐3.913 30

・・・
UV(63)=0.349 746 VN(63)=0.360 483 RSP(63)=0.0127 2

J=0

J=J+1
DT(J)=((UN(J)‐UT)‐RSP(J)×((VN(J)‐VT)))/SQR(1+RSP(j)2)

J=64

DT(J)>=0

UT=us
VT=vS

NO

DDD= ‐DT(J‐1)/(DT(J)‐DT(J‐1))
Tm= J‐2+DDD
TC=100000/Tm

PPP= (UN(J)+UN(J‐2))/2‐UN(J‐1)
QQQ=(UN (J)‐UN(J‐2))/2

UON= (PPP×DDD+QQQ) × DDD+ UN(J‐1)

PPP= (VN(J)+VN(J‐2))/2‐VN(J‐1)
QQQ=(VN(J)‐VN(J‐2))/2

VON= (PPP×DDD+QQQ) × DDD+ VN(J‐1)

DUV= SQR((UT‐UON)2+(VT‐VON)2)×1000

VT< VON

DUV= ‐DUV

終了

NO

NO

YES

表B.1

計算できません

Tm
DUV

YES

YES

 

訂正箇所 


